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ObjectBall7.pde
class Ball {
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int X;
int vy;
int w;
int -

ADRBZIRARA)Y

void draw(){
background(255);
p.X = mouseX; p.y =
mouseY;

}

int distance(Ball gq){

q.X) + (¥ - q.y)*(y - d.y)));
)

return((int)sqrt((x - q.xX)*(x -

1.
2.
3.
N
l p.display();

q.display();
g.r = p.distance(q);

}

}

Int distance(Ball a, Ball b){

return((int) sgrt((a.x - b.x)*(a.x
b.x) + (a.y - b.y)*(a.y-b.y)));
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BrE2.2 fREH

= 1)
1. String s ="1,234,000";
2. String t = s.substring(0, 1) + s.substring(2,5) + s.substring(6);
3. printin(s+"*2 ="+ (int(t) * 2));
= f5[2)
int head = s.length() % 4;
String tail = s.substring(0, head);
for(inti =1;1<s.length() / 4.0; ++i){
tail += s.substring(head + (i-1)*4 + 1, head + i*4);
}
printin(s + " * 2 =" + int(tail) * 2);
m f53)
1. int x2 = int(s.replaceAll(",", "));
2. printin(s+"*2="+x2* 2);
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m  ObjectBall8Degree.pde

1 Ball p, q; 1. float degree(Ball p, Ball q){
2 void setup(){ 2, if(p.x == p.y){ return(P1/2); }
3 size(200, 200); 3. return(atan( (float)(p.y - g.y) /
4 fill(255, 0, 0); (float)(p.x - 9.x) ));
5. p = new Ball(100, 30, 20); 4}
6 g = new Ball(150, 130, 30);
7 } 1. class Ball{
3 void draw(){ 2. int x; int y; int w; int r,
9 background(255); 3. Ball(int ax, int ay, int aw){
10.  p.x = mouseX; p.y = mouseY; 4. X=ax;y=ay,w=aw,r= 255
11. p.display(); q.display(); . } o
12, p.r=int(255.0 * 2/P| * 6. void display(){
(abs(degree(p, Q)))); 7. fill(255, 0, O, 1);
13. '} 8. ellipse(x, y, w, w);
9. }
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1. 75X Timely

= — == = Timely.pde
" 77Z0);E$k’ 1. class Timely {
AClass 75 RX4 { 2. int min;
N . < 3K -, —_ | 3. Intsec;
AVARFIVARHNDES; 4. Timely(int m, int s) {
} 5, min = m;
Q45) int min, int sec; . }Sec -
s AT OMDER >

(A RZ2R1E)

QU5 RE EH = new I3 R4();

Q41) Timely a = new Timely();
Timely b = new Timely();
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Timely2Str.pde = Timely.pde AR
void setup(){ 1. String toStr(Timely a){
size(300, 300); 2. return( str(a.min) +";"
} + str(a.sec));
3.}
void draw(){ 4. class Timely{
Timely a = new Timely(11, 23); 5. int min, sec;
printin("a =" + a.toStr()); 6. Timely(int m, int s){
printin("a =" + toStr(a)); 7 min = m; sec = s;
noLoop(); 8. } AUk
} 9.  String toStr(){
= ot 10.  return(str(min) + ":" +
THA str(sec));
= 11:23 ﬂ_}
= 11:23 12. }
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AVDRBZD AL YR
XiE | [static] class 77X 4{
RUEE AUYRE(EIS) | (VR RERLY)
HSZ DB TES RUMER AUyk£ (BIED)
f51) static String toStr(Timely a) |}
f5ll) String toStr()
T | S AL EENETT
LWHENDHD.
1) Timely a = new Timely(); 1) Timely a = new Timely();
String s = toStr(a) String s = a.toStr();
XRAT |51 TIERE THETE, thislZ A BE AT HE
]
KRB | sqrt(3.2) String.indexOf("X")
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1. static String toStr(Timely a){

2. return( str(a.min) +":" + str(a.sec));
3.}

m Step
Q1. static EE%4L, classOH(ZFET 5.
Q2. 518EF—DHIBR (AT IMIARE AL FEH
7D T)
Q3. B|#Z 3 R Tthis IZTBEZHZ 5. (HIETTHE:

1. String toStr(){
2. return(str(this.min) + ":" + str(this.sec));
3. }
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Timely2Int.pde
void setup(){

size(300, 300);
}

4. void draw(){

Timely a = new Timely(8, 13);

printin(a.toStr() + " ="
+ a.tolnt() + " [sec]");

printin(a.toStr() + " ="
+ tolnt(a) + " [sec]");

8. noLoop();

}

EITHER
8:13 = 493 [sec]
8:13 = 493 [sec]




2. FFzl|DF0

lfﬁ%ﬁ
da=12:34
Qb= 8:42
Qa+b = 21:16

(34F> + 427> = 767
= 15716%)
(125> + 853 + 153 = 21%3)

FRRIAV Y DB
Timely plus(Timely x, Timely y){
Timely z = new Timely();
Z.Sec = X.Sec + y.Sec;
Z.min = x.min + y.min;
iIf(z.sec >= 60){
Z.sec -= 60;
Z.min++;
}
. return(z);
10. }
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Timely4Plus.pde %
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Timely plus(Time X,
Timely y)

EITHR

a = 12:34
b = 8:42
at+b = 21:16
at+b = 21:16

Timely4Plus.pde
void setup() {

size(300, 300);
}

void draw() {
Timely a = new Timely(12, 34);
Timely b = new Timely(8, 42);
printin("fa ="+ a.toStr());
printin("b =" + b.toStr());
printin("a+b="+ plus(a, b).toStr());
10. printin("a+b="+ a.plus1(b).toStr());
11. noLoop();
12. }

w N =
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3. WMEEHTHISX

m XYZ.pde (p. 181)

1. class X{
float f:

}

class Y extends X{
String s ="Y",

}

class Z extends Y{
Int I

}
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R P Y (p. 177)
Qclass Y 795X 4 A—IN—DF ]
YRR T BV TAEH,
YR 9 B AVYYRDESE
}

QRCABIDES: TS RHBES B
» f51l) class E{ int x; }
class F extends E {int x}

m FHOSANSHE
QAsuper.HRITRAD A VE()
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0 Hello.pde m Override.pde

1. class A1{ ,

5 void 0 1. void setup(){

3. text("Hello from A1", 20, 100); 2 size(300, 300);
gr- }} 3 fill(255, 0, 0);
6.  class B1 extends AL{ 4 textSize(36);

7. void hello(){ 5 }

8. text("Hello from B1", 20, 100); 6. void draw(){

9.

10. }} 7 Cla=new C1();
11.  class C1 extends B1{ 8 a. 0;

12. void hello(){ :

13, text("Hello from C1", 20, 100); 0 noL.oop();

15. }

E Dhello()HSIEIE AL B H?




m override (1895, LICEHD)

Q& Dhello)MEITEINST=AD?
QY ITHISATA—IN—IF5AD A YREE]L
TZ5.

A I

void hello()
( : void hello()
(¢ )

void hello()
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m Zz.pde

1
2.
3.}
4

5.

6. )
;
8
9

)

. class X{

float f:

. class Y extends X{

String s ="Y";

. class Z extends Y{

inti;

10. class Z3 extends Y{

11.
12.
13.
14.
15.}

String s = "Z3";
String disp(){
return(super.s);

}

16. void setup(){

17.
18.}

size(300, 300);

19. void draw(){

20.
21.
22.
23.
24,
25.
26.
27.
28.}

RITHER

Zz=new Z();

z.f=45;

z.s = "Object Z";

z.i = 10;

printin(z.f + "¥t" + z.s + "¥t" + z.i);
Z3 z3 = new Z3();

printin("z3.s =" + z3.s);
printin("z3.super.s =" + z3.disp());

45 ObjectZ 10
z3.s =723
z3.super.s =Y
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m Timely 7S REIEL |1 Lon cotmiy
T, B hour 23KIF |2 size(300, 300);
TEBH(ZLT= Houly |
IS5R ZHE(T - void draw(){

4
5.  Hourly a = new Hourly(1, 12, 34);
Q toStr(), plus(Hourly 6. Hourly b = new Hourly(2, 48, 42);
—I\S ,n\-u-ct 7. printin("fa ="+ a.toStr());
y)€7'|_ 7 g. printin("b ="+ b.toStr());
9. printin("a+b =" + a.plus(b).toStr());
10. noLoop();

= 1:12:34

TR e
d
b

= 2:48:42
at+tb = 4:1:16
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1
2
3.
4.
5
6
7

10.
11.
12.
13.

I~

Hourly.pde
class Hourly extends _ {
int hour;
Hourly(int h, int m, int s){
hour = h; min = m; sec = s;
}
String toStr(){

return(str(hour) + ":" +
super.toStr());
}

Hourly plus(Hourly y){
Hourly z = new Hourly(0,0,0);

14.
15.
16.

18.
19.
20.

22.
23.
24.

}

return(z);
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m class A extends BIZVSADILEERT .
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s 3.1 BRI IREERICERS S toint() AV UFE
A—IN\TAFLT=

T ETHEE
Hourly2.pde Z& 7. a = 1:12:34

a = 4354 [sec]

m 3.2 XFIZEmlICRAFHREAAF AT ST
> ARS%9% Hourly3.pde #ZEI7.
0 51) Hourly a = new Hourly("1:12:34");

m 3.3 EMNIOLL T DBFIXFEEEIZOZ T T HHkIZER T
95 Hourly4.pde

= HITHER
zEIT. a = 01:12:34
b = 02:48:42
at+b = 04:01:16



AT 499X )Y zero

m Timelyl.pde

8.

©

-}

1
2
3
4.
5
6
7

. void setup() {

size(200, 200);

void draw() {
String s ="
Timely a = new Timely(2, 13);
s = zero(a.min) + ":"
+ zero(a.sec);
printin(s);
noLoop();

10. }

m Timely.pde

1
2
3
4.
5
6
7

)

. String zero(int x){

if(x < 10){
return('0" + X);
}else{
return(" + X);

}

02:13



